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‘ . cwn | BIRER | ®ixEm | goxpm | DLOD
iz MRE | FAER | amaw | anEM | enEM | SRRl
il & (KEE 13 12 9 - 3
HE TR B (B 2E) R2.6.28 2 2 1 _ 0
BB (KEZE) 211 134 99 56 40
EEBEGEXE) 16 13 7 3 1
BB E(ERE) 24 22 7 1 0
EEBEENVNERR) 18 18 8 - 1
FATE & (KEE R2.9.20 9 0 0 - 0
REL 33 26 21 - 10
JHBFE(KEFZE) 49 24 20 - 10
JHBE(5E K ) 14 12 9 - 2
JEBE(EREE) 38 34 23 - 6
E5EE(RED 130 106 50 26 14
e Y= (C L) 16 15 13 - 9
AT & (KfE) 9 9 7 - 3
REBE T EH 33 27 25 - 18
B ERD R2.10.18 2 2 1 ~ 1
RIZED 22 15 13 - 2
e 4 2 2 - 1
REXBE 36 30 16 - 5
F i & (KE %) 2 2 2 - 1
H ik & (RE) 3 2 2 - 2
B ERT 3 1 1 - 1
(2T R3.1.23 3 2 2 _ ’
*ELT 9 9 5 - 1
oNE] 5 5 5 - 2




